Rolled Ball Screws Standard Nut - Shaft Dia. 25; Lead 5, 10, 25

Accuracy Grade C7, C10

: Points of comparison between similar products | Consider using this product if the usage environment is a high-load, and high-frequency drive application.

Nut Type Accuracy Part Unit Price 1 ~ 4 pc(s).
Nut Type Accuracy | Shaft || o Screw Shaft Nut Grade Number L200~400 | L401~600 | L601~800 | L801~1000 | L1001~1200 | L1201~1500 | L1501~2000
Type |Standard |[FP Grade | Dia. [[DMaterial | C)Hardness | ESurce Teatment | [[Material | (JHardness | ESurface Treatment C7 BSST2505
BSST N 7 510 Induction - . (9)Phosphe Comeson Cozing BSSR2505
Standard [—E SR | BSSRK 25 [ | S55C | Hardened |mpastmesnomg] SCMa20 |CADUNZed [y Bk €10
Nut Bssz T Bsszi | C10 5,10,25 56-62HRC - 58~62HRC fiuki BSSZ2505
St c7 BSST2510
andard Nut BSSR2510
10 BSSZ2510
BSSR2525
*Included Collar (1 pc.) BSS$22525
BSST, BSSR(K), BSSZ(K)2505 (I toria: 5456 pe.
- g 30 10 P [olerance 300 B surface Treatment: Black Oxide Example  BSSC2505 - 300 -
> . 0 ¢ BSSZK2510 - 370 F30 - P12
= s3 | -g 009 @BSSR2525L - 370 (L Type Greased)
R0.3 or less g — X ~ R0.3 or Iesséﬁé =15 oo 055 So % QESSR2505G. - 370 (G Type reased)
8 - 8 =1 +
T LO|
! N 8 / g a *Included Collar &/ S
=S l: / | _
53 I s\ . i
gL_bLL ey ; | [
=2 | I
! \‘ & ‘r‘tr * Collar \\ ‘_Z_UJ HENotes
co.5 | ||C0.5 ons m N C0.5 | co5 (®Mounting surface of BSST ball nut flange is not surface-treated.
|_]1.35%0 2.Seal Wikl X (®Filled with lithium soap based grease (Alvania Grease S2 made by Showa Shell Sekiyu K.K).
15.35"5" ,Lf’ 16 4-5.5 Through (®)Various grease options are available. For price and specifications, =5 P686
) : i For accuracy of Ball Screws, see P2223 and P2224.
18 Y (Nut Motion Range 20 53 F O\ M20x1.0  Amow ViewX-X \M6x1.0 Depth 6 (Qil Inlet) ® ! S,
( ge) | X (For details of Support Units, see P753 ~ P778.
L (®)Cautions:Do not let the nuts overrun or remove the nuts from the screw shafts.
It may cause the balls to fall out or damage the ball recirculation parts.
BSST, BSSR(K), BSSZ(K)2510 Included Collar (1 pe.) ®Use the "* collar" position in the diagram for the accessory collar. Use one of the support unit accessory collars on the fastening nut side.
_ [0 Material: $45C (®Do not tilt the ball screw assembly since the nut may spin off from the shaft due to its own weight.
c:;s 77 15 P [Tolerance 30 30> B Surface Treatment: Black Oxide . B S[F]-[7]- e Mcete)
= 53 10 | Bon Alterations BSSR2505 - 700 - RLC
=] X E5| 11-15[ Joyy 078 = Alterations Code Spec.
RQ.3orless 5 o ROSorless el ——— *o Alterations Code Spec. Wrench Flats on Fixed Side o
1 ~ i Y & o *Included Collar & No Machini Support Side Shaft End Adds wrench flats on the fixed side shaft end.
- |l | // ) // ) J‘ IS R = 1S 0 Vlachining on Support Side Shaft En }\ [Ordering Codd SZC
§§1 \ \ A | I © B E:[bp’ NG No machining added on the support side shaft end. e L[ T SzC (@ Ball bearings will fall out if the ball nut
& } vy } J—! m L_—L_j (Ordering Code NC | et Hid dA crosses the wrench flats.
= | I/ // / // A \ \\ 20 ‘ Incomplete Hardened Area
|~ = L * Collar < — Keyway on Fixed Side Shaft End ) )
1 e
cos |fcos N | 0.5 | c05 e et Detailed Keyway Dimensions = P684 ﬁgdi :n';f)l'n‘";‘é;r;:e i) il il
13570 2-Seal i X s @ﬁ?ﬂ) Changes the nut direction. KC .
i . Kc2
1 5l35+g.1 5 16 4-9 Through RLC |Ordering Code) RLC % O g)dgzg]i;x; ﬂCqu
- . M6x1.0 Depth 6 (0l Inlet) Reviseuugﬂzgp
18 Y (Nut Motion Range) 2 53 M20x1.0  Arrow View X-X pth 6 ( ) Koyway on Fixed Side Shaft End O —
L ing il i No Retaining Ring Groove on Support Side Shaft End. P fixed side shaft end. (Keyway dim. is same as KC.)
No Retaining Ring Groove on Support Side Shaft End RNC |BmaEme 1= KLC | K. S=imm Increment
. _-. S . . K| |s KLC-K20-S3
Included Collar (1 pc.) (®)Combination with FC is not available. @ 6=K+S<Px3 K+S<F-1
BSST, BSSR(K), BSSZ(K)2525 () Meteria: 45
0 ) aterial: . Change Support Side Shaft End Machining Changes the machining on the support side. Flat Machined on Fixed Side Shaft End Adds a flat on the fixed side shaft end
o5 84 12 P [Tolerance 30 30> [ Surface Treatment: Black Oxide Qs selectable from 10, 12, 15 and 20, L i;nglr?;er:erﬁe side shaft end.
> — - - -
by 53 10 |J§ = E GC | G=1mm Increment sc Ay
= i — 25 ol . C’t 5l (Orderng Codd GC-010-G20 5C 05 %egscncdgxcszosc<F_1
RO.3 or less S — Bl R03orless S5 i -0.011 060 Seo =] (9)5<6=0x3(®)Y dimension is shortened. SIS =
: " LO|
I 1 -~ L § § o * Included Collar § g Change Support Side Shaft End Length Changes the length of the support side shaft end. 2 Flats Machined on Fixed Side Shaft End Adds two flats on the fixed side shaft end.
25 /| ; / /) ! - d FC=1mm Increment SWC  SGC, SWC | SWC: 90° Position SGC: 120° Position
@3 i ! / I | | < | .L 15.35 FC | [Ordering Codgl FC20 < & 1mm Increment
St | =~ 7/ ! | | = o @19<FC<60 EDF p see SWe10
< I Iy r  collar \ |20 | FC @V di T Wt | | |05t |05 (®5<SWC, SGC<Px3 SWC, SGC<F-1
co5 | ||cos S\ o €05 [co5 - Tapped Hole on Support Side Shaft End Adds a tapped hole on the support side shaft end. Installing Special Temporary Shaft Special Temporary Shafts suitable with Ball
1357014 'A"Hr X = e ) ”‘,:V'I%Tg"t NP SN 8 Screws are installed.
11350 2-Seal i = MC “’E" Cod ! (@)Y dimension is shortened. TAS | When removing Nut from Screw Shaft, always
15_35"3‘1 . 6 16 __4-6.6 Through 15.35 use Special Temporary Shaft.
i MC Mex.25 |20 (®For installation method, see P685.
18 Y (Nut Motion Range) 20 53 M20x1.0 Arrow View x-X \Mx1.0 Depth 6 (0l Inlet) e 28=MC<60 iakisans
L W Peripherals: Combination of the following parts is available. Support Units Support Side
i N Nut Bracket
L,
A y Part Numt 1mm Increme Ball |BallCenter| Screw | Number |Basic Load Rating| Axial | Twisting . e .
NutType |"Grade | Type [wwsutod| Lead L F P Y Dia. | Dia. |RootDia.|of Circuits | cpyamgh | CofSiati| Play |Direction S ' - Support Units Fixed Side
Cc7 BSST 0.03 or Less ss . . - . s
BSSR 27 15 L-118 ; ;
Support Units - Square Support Units - Round Nut Brackets - Block Type
- BSSZ 05 | 200~2000 3175 | 258 | (21.8) 2-15 wns| 66 | 187 | o100r PP 9 PP » |
Sg:gz 27-45 | 10-15 |L-(@1+F) L= [l Combination with Support Units [l Combination with Nut Brackets
7 BSST 007 orLess Ball Screw Part Number Recommended Support Unit Ball Screw Part Number |Recommended Nut Bracket
Standard BSSR 27 15 L-118 ) Screw Part Number Fixed |Support Screw Part Number
Nut BSSZ % 10 | 300~2000 635 | 268 | (03 [2PUMS| 975 | 763 | o200r g Type |shitop, -ead Type [ No. Shape | ‘gige |“side | Pa9e Type  |gptop,| Lead Type | No. S
BSSRK L= BRW | 20 P767 05 | BNFE |2505R| P780
Baszic 27-45 | 10~15 |L-(91+F) BSST 05 Round O 276 BSST BNFM d
Il BSSR - 1 BUR | 20 O | p768  BSSR 25 10 | BNem |2510R| P780
BSSZ z L P Wi BSSZ 25 | BSW | 20 | o[ O P761  BSSZ 25 | BNFA [2525R| P780
BSSRK 25 300~2000 2745 1015 |0} SR | 2 || e | Gy e 22 Less BUN 20 O P762  ®o0ther than the part numbers shown above, a wide variety of Nut Brackets are
BSSZK - - (B (®0ther than the part numbers shown above, a wide variety of Support Units are also available. (P761~P778) also available. (P780)

for BSSRK and BSSZK only. ()F<Px3 (®)Combination of Ball Screw BSST2510, BSSR2510 or BSSZ2510 with Support Unit BSW20 may cause the

kgf=Nx0.101972 | v
nut to come in contact with the bottom surfaces.

n_719 *FandPare n_720



